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An event contains a payload that is an array of objects. How is the event routed in a Scatter-Gather?
Response:

A. The entire event is sent to each route and processed in parallel

B. The entire event is sent to each route and processed sequentially

C. The event is split and events with different smaller payloads are routed and processed in parallel
D. The event is split and events with different smaller payloads are routed and processed sequentially

Answer: A

How does API-led connectivity benefit application networks in terms of system architecture?
Response:

A. Encourages monolithic system designs

B. Reduces overall system scalability and flexibility
C. Facilitates independent scaling of components
D. Promotes tight coupling between services

Answer: C

An API specification is defined using RAML. What is the next step to create a REST Connect connector
from this API specification?
Response:

A. Publish the API specification to Anypoint Exchange

B. Add the specification to a Mule project's src/main/resources/api folder
C. Download the API specification and build the interface using APIkit

D. Implement the API specification using Flow Designer

Answer: A
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Which elements are part of the Mule Error object structure?
(Choose Two)
Response:

A. Error type

B. Payload content
C. Description

D. Processor path

Answer: A,D

A Scatter-Gather processes three separate HTTP requests. Each request returns a Mule event with a
JSON payload. What is the final output of the Scatter-Gather?
Response:

A. An array of three JSON payload objects

B. An object containing three Mule event objects
C. An array of three Mule event objects

D. An object containing three JSON payload objects

Answer: B

A RAML example fragment named BankAccountsExample.raml is placed in the examples folder in an API
specification project. What is the correct syntax to reference the fragment?
Response:

A. examples: #import examples/BankAccountsExample.raml
B. examples: linclude BankAccountsExample.raml
C. examples: #import BankAccountsExample.raml
D. examples: linclude examples/BankAccountsExample.raml

Answer: D

Visit usat: https.//www.examsempire.com/dex-401



A client submits a GET request to a Mule 4 application to the endpoint /customers?id=48493. Where is

the ID stored in the Mule event by the HTTP Listener?
Response:

A. Variables

B. Inbound Properties
C. Attributes

D. Payload

What benefit does APIkit provide when building APIs in Mule?
(Choose Two)
Response:

A. Reduces the need for manual code

B. Automatically scales the application based on load
C. Enhances the security of APl endpoints

D. Simplifies the initial setup and testing of APIs

Answer: C

Answer: A,D

When using MuleSoft's API-led connectivity approach, what HTTP method in a RESTful web service is
generally recommended to be used to completely replace an existing resource?

Response:

A. GET

B. PATCH
C. POST
D. PUT

Answer: D

What is the correct way to format the decimal 20.3844 as a string to two decimal places?

Response:
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A. 20.3844 {format: ".O#" as String}
B. 20.3844 as String ( {format: ".0#"})
C. 20.3844 as String {format: ".0#"}
D. 20.3844 format( String: ".0#" )

Answer: C
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